Honors Algebra 2 Name :
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Write each series in summation notation.
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Find the 12th term of each arithmetic sequence.
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Find the indicated sum for each arithmetic series.
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Find the indicated sum for each geometric serfes.
15 Bpefor-1+2-4+8-16+32-64+4 ... 16 3, for 2600 + 1500 + 800 + 540 + ...
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17. Determine if the sequence is arithmetic. If it is, find the common difference, the
52nd term, and the explicit formula.
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18. Given the first term and the common difference of an arithmetic sequence ﬂnd the
52" term and the explicit formula.

A)ar=-10,d=-2 -t Oun = ~8 =D n
B)ai=2,d=9 o O = Q-
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19. Given a term in an arithmetic sequence and the common difference find the 52;nd
term and the explicit formula.
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20. Given two terms in an arithmetic sequence find the 52nd term and the explicit -
formula. :
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21. Determine if the sequence is geometric. If it is, find the common ratio, the 8th term,
and the explicit formula. S ‘ T :
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22. Given the first term and the common ratio of a geometric sequence find the 8ti:1
term and the explicit formula. - e A
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23. Given a term in a geometric sequence and the common ratio find the 8th term ;_'md
the explicit formula. - ‘ e

A)as= 324, r=-3 B¥EY Gy = TBT

B) az= 3, r=—3 208 ¥ G = =4 =Y
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24. Given two terms in a geometric sequence find the 8th ‘term and the explicit forfnula.
A)az= 5 and as= 3125 :

B) a:= 100 and @5= 2500 . =4 2800 0, =il (Y0
C) az=-36 and as= 216 R \3\5
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25. Evaluate each arithmetic/ geometric series described.
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C) Sisfor 8+10+12+14. 5D |

D) Sts for —4-8-16-32.. =1 3500

E) Si15for1+4+16+64... 12 %0

26. Jacie is considering a job that offers a monthly starting salary of $4000 and guaranfees her a
monthly raise of $190 during her first year on the job. Find the general rule for this quanc@ and
her monthly salary at the end of her first year. {hw = 0 F RDIU y 4 A

27. Find the sum of the first 20 terms of the arithmetic sequence: -12,-6, 0,6, . .. < o

28. Find the sum of the first 30 terms of the arithmetic sequence: 10, 5,0,-5, ... | %?f*%ﬂ



29. As part of her retirement savings plan, Patricia deposited $250 in a bank account during her first
year in the workforce. During each subsequent year, she deposited $45 more than the previous
year. Find how much she deposited dunng her twgntleth year in the workforce. Find the total
amount deposited in the twenty years. 3| { (Y% TS TED
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30. What is a formula for the nth term of sequence B shown below?
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What is the formula for the nth term of the sequence
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32. What is the common difference of the arithmetic sequence %ﬁrilr 14,
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33. What is the common ratio of the geome/ﬂg; sequence whose first term is 27 and fourth term is 647
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34. Find the 7th term of the geometric sequence for which al =6andr= 2.
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35. Jonathan's teacher required him to express the sum 3 4 3

6 7 using sigma notation.
Jonathan proposed four possible answerg Wthh of these four answers is not correct? :
Z k-1 g\ Z E+1
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36. Find the first three terms of the recursive sequence defined below
@y =3
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Look over more story problems~



